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N=8 DFT

x(t) = o(t—t,+1)+ o(t—t,+.5)+ o(t—t,) y(t) = h(t—t,+1)+ h(t—t,+.5) + h(t—t,)
4 A
(=1 s ] () t:+1
y(t) = UQX(V) (t—v) dv
= jé(v t,+1)h(t—v) dv — h(t—t,+1)
+ [ 8(v=t,+.5)h(t—v) dv — h(t—t,+.5)
T .05( ) (t—v)dv - h(t—tl)

y(t,) = h(t,—t,+1) + h(t,—t,+.5) + h(t,—t,)
h(1)+ h(.5)+ h(0)
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N=8 DFT

x(t) = o6(t—t,+1)+ 6(t—t,+.5)+ 6(t—t,)

y(t) = h(t—t,+1)+ h(t—t,+.5) + h(t—t,)

5(t) + 5(t=5) + 8(t—1) y(t,) = h(1) +h(.5) + h(0)
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N=8 DFT

x(t) = o6(t—t,+1)+ 6(t—t,+.5) + 5(t—t,)
x(v) = 6(v—t,+1)+6(v—t,+.5)+ 6(v—t,)
x(t—=v) = 6(t—v—t,+1)+ 6(t—v—t,+.5) + 5(t—v—t,)

y(t) = [ x(t=v)h(v) dv
= j5(t v—t,+1)h(v) dv — h(t—t,+1)
+ [ S(t—v— t,+.5)h(v) dv — h(t—t,+.5)
+ [ s(t—v—t,)h(v) dv — h(t—t,)

S5(t)+6(t—.5)+ 5(t—1)
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N=8 DFT

y(t) = [ x(v)h(t=v) dv

= [ s(v—t,+1)h(t—v) dv — h(t—t,+1)
+ [6(v—t,+.5)h(t—v) dv — h(t—t,+.5)
+ [ o(v—t)h(t—v) av - h(t—t,)

= fx(t 2

= [6(t—v—t,+1)h(v) dv — h(t—t,+1)
+ [ s(t—v—t,+.5) h( ) dv — h(t—t,+.5)
+ [ s(t—v ) dv = h(t—t,)
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Impulse Response
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Impulse Response
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Impulse Response
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Impulse Response
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